MIAM I-DADE' MIAMI-DADE COUNTY, FLORIDA
N METRO-DADE FLAGLER BUILDING
'BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAML, FLORIDA 33130-1563

(305)375-2901  FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA)

KML Windows, Inc.
23 Buchanan Court
London, Ontario, Canada N5Z 4P9

Scopr:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Aluminum Clad Outswing Wood French Door - Non-Impact

APPROVAL DOCUMENT: Drawing No.1228B, titled “Aluminum Clad Wood French N on-Impact Doors”,
sheets 1 through 13 of 13, dated 5/13/03, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed and
sealed by Warren Schaefer, P.E., bearing the Miami-Dade County Product Control Renewal stamp with the Notice
of Acceptance number and expiration date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the

materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any

product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply

with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by

the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall

be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
-and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-0625.10 and consists of this page 1 and evidence pages E-1 and E-2, as well as

approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 04-0211.06

Expiration Date: April 26, 2009
Approval Date: March 25, 2004
Page 1




KML Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer’s die drawings and sections.
2. Drawing No.1228B, titled “Aluminum Clad Wood French N on-Impact Doors”,
sheets 1 through 13 of 13, dated 5/13/03, prepared by W.W. Schaefer Engineering
& Consulting, P.A., signed and sealed by Warren Schaefer, P.E.

B. TESTS
Submitted under NOA# 00-1030.02
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-07, dated 10/1 1/00, signed and sealed by
Douglas Keith Tucker, P.E
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with installation diagram of outswing wood French doors with different
shape top, with & without sidelites, prepared by Intertek Testing Services NA
Inc., Test Report No. J99022770-231-08, dated 10/11/00, signed and sealed by
Douglas Keith Tucker, P.E

C. CALCULATIONS
1. Anchor Calculations and ASTM-E1300-98 analysis, dated 6/18/03, prepared by
W.W. Schaefer Engineering & Consulting, P.A., signed and sealed by Warren
Schaefer, P.E.
2. Engineering Calculations prepared by W.W. Schaefer Engineering & Consulting,
P.A, dated 8/28/00, revised on 8/28/00, sheets 1 thru 12 of 12, signed and sealed
by Warren W. Schaefer, P.E. Submitted under NOA# 00-1030.02

%ﬂ/{{/pm
Manuel Perez,-RE.
A Product Control @i‘
NOA No 0 .06

Expiration Date: April 26, 2009
Approval Date: March 25, 2004



KMIL Windows, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. QUALITY ASSURANCE
1. Miami Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
Submitted under NOA# 00-1030.02
1. Notice of Acceptance No. 03-0916.02issued to Nebula Glass International Inc. for
“Glasslam Safety-Plus Laminated Glass” dated 10/23/08, expiring on 9/9/08.
2. Notice of Acceptance No. 02-0828.16 issued to E.I. DuPont DeNemours for
“Dupont Butacite ® PVB” dated 11/21/02, expiring on 12/11/05.

F. STATEMENTS
1. None.

G. OTHER
1. Notice of Acceptance No. 03-0625.10, issued to KML Window, Inc., Aluminum

Clad Outswing Wood French Door, approved on 10/09/03 and expiring on
4/26/04.

WM{,M e

~ Manuel Pere ¥
Product Control EXamine
NOA No 04-0211.86

Expiration Date: April 26, 2009
Approval Date: March 25, 2004



—

-

=
N

e 37 5/8" MAX. OSM

A
N

FOR JAMB FASTENER EMBED & EDGE
DISTANCE REQUIREMENTS SEE SHEET 3

EXTERIOR ELEVATION

SINGLE RECTANGULAR FRENCH DQOOR
SCALE: 3/4"=1"~0"

GENERAL NOTES

1.

2.

3.

THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR 5. ALL JAMB TO BUCKING

DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN ON THESE DRAWINGS.
BUCKING, OPENINGS & BUCKING FASTENERS MUST BE DESIGNED &

INSTALLED TO WITHSTAND WIND LOADS AS DETERMINED FOR EA. APPLICATION.
ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS
& MAY NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.

THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS
PROPOSED FOR WATER, AIR & UNIFORM STATIC AIR PRESSURE TESTING IN 8
CONFORMANCE WITH FLORIDA BUILDING CODE PROTOCOLS TAS 202 FOR

NON—IMPACT DOORS.

74 3/16” MAX. OSM

1/4" TAPCONS WHEN INTO

CONCRETE HEAD (2 PER STRIKE PLATE)

1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" O.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" Q.C.
WHEN INTO WOOD FRAMING

6. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH
THE FLORIDA BUILDING CODE (FBC).

7. THIS PRODUCT HAS BEEN TESTED IN ACCORDANCE WITH FLOR!DA
BUILDING CODE PROTOCOLS TAS-202.

. FOR ALL NON-IMPACT DOORS, FLORIDA BUILDING CODE APPROVED
SHUTTERS ARE REQUIRED.

EXTERIOR ELEVATION

DOUBLE RECTANGULAR FRENCH DOOR

&9

SHEAR FASTENERS MUST PENETRATE BUCK A
MINIMUM OF 1 3/8" IF PENETRATION IS LESS THAN 1 3/8” THEN
SCREW LENGTH SHALL INCREASE AS REQUIRED.

SCALE: 3/4"=1=0"

PRODUCT RENEWED

as complying with ¢he Florida

Buiding Code
Acceptance No

Expivation Date APEH. 2l

04 -0 [_OQ

& @@ 400D HEAD (WHEE STRie PLATE) 27
VINYL NALL FIN WOOD HEAD (2 PER STRI
(OPTIONAL WITH B\ gB2) (49 VINYL NAIL FIN
RECTANGULARSEGEAXETNTAL HALFE)f(?TdUND TRAPEZOD TRIEA);JTéLE %'"IS%R SﬁREW % % @ SEE "CORNER DETAILS” v w ¢ (S?_{PEKCR)NQERVEW
r i P LLATON) [ \< ON SHEET 8 I 1 >N | 8 | i INSTALLATION)
’__ ’(— F ui = 1 - - _r ,IH T Ql 1 = 1 - °l l“l H iH_L |e - 1 = l° ] R
N al I Nl I zo 11 .
QL lﬁA NE ()7 |, NG Il - A
EXT. REV. DOUBLE DOUBLE EXT, ' /// [ A8A [ // @ / NN o E
SEGMENTAL RECTANGULAR PARTIAL SEGMENTAL 48A i / \u} i il / r”1 #'1 s
NO. T2 SHS SHEAR SCREW ol NO. 12 SMS |o SHEAR SCREW i ¢ '
INTO BUCK INSTALLATION U '(NZT%E%U%P INSTALLATION Hil
(2 PER TOP SEE OTHER ELEVATION | HINGE) SEE OTHER ELEVATION -
HINGE) ol FOR CLIP INSTALLATION '[__: 5 gl FOR CLIP INSTALLATION } N\ In
S sj / i S g /24 7/8" | \ .
2 ‘HINGE 1l ACTIVE | Lol MAX. D.L.0. | N il o |
2 ., Il 5 8 oy INACTIVE | mlacve Pl g B
R | Ve d
~ . U.LO. ~ 3 ;
" DOUBLE DOUBLE EXT. REV. N " { ) NN @ N~ : ' S B
TRAPEZOID PARTIAL SEGMENTAL 2 - @ 31A & 32 H- o \J\ﬁ N
SHAPES CONSIDERED AS @ M X 11 \¢ :a fliss 2
PART OF THIS APPROVAL 0.5 o Sy | | , | R
WITHIN 4" OF -t 7/ L ) N\ 1/f‘<:> : I3
NOTE: FOR COMBINATION OF || | & § @\1: N R 7 N
UNITS. SEE MULLION ., N 1 P S 0.0 | Y I P // ,
DRAWING NO. 1003E < wils WTHN & OF 1) >N |l / ¥
& 1003F UNDER 4 2] 2 il ux. 12" oc. | [h 38 Il
SEPARATE APPROVAL « o Tl il o 1T E T
- I - BN oy <
ALLOWABLE DESIGN LOADS ot \ T B S\ - T -
SEE "LOAD TABLES" ON SHEET 12 | o ! | vt 'Hl ! Mo, 10 SHS WHEN INTO

WOOD SILL (2 PER STRIKE
PLATE)

1/4" TAPCONS WHEN INTO
CONCRETE SILL (2 PER

STRIKE PLATE)

PRODUCT REVISED

as complying with the Florida
Beiding Code

Acceptance No %3 ‘0655. 10

Expirstion Date

By (
Mizwit Dade Produet Control

Divisien

DRAWN gY:
K.P.S.

CHECKED BY:
WW.S,

PLOT:
1=18

DATE:

05/13/03

DATE

8Y

REVISION DESCRIPTION

NO.

—

MANUFACTURER

23 BUCHANAN COURT

KML WINDOWS, INC.
LONDON, ONTARIO, CANADA N5Z4P9

(519) 681-7012

ALUMINUM CLAD WOOD FRENCH NON-IMPACT DOORS

DRAWING TiTLE

CONSULTANTS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CERTIFICATION

CHAEFER, P.E.
T 44135

P— ;m

= g

= &

B S
DRAWING NO. [REV.

12288

SHEET NO.

1 or13

_



JorawN BY:  |CHECKED BY:

74 3/1 6" MAX. OSM 74 3/1 6" MAX. OSM 'ﬁ_o}?iss opg'gv;:jos
) 1/4" TAPCONS WHEN INTO
1/4” TAPCONS WHEN INTO @ -
EI(I)\I %cr)e(Ev:svﬂ " N0 10 SHS WHEN INTO NO. 10 SMS WHEN INTO
. ‘ WOOD HEAD (2 PER STRIKE PLATE
OR 1 5/8" DRYWALL WOOD HEAD (2 PER STRIKE PLATE) L i EAD ( ) 2/('%0“?'& VZ'TNH x
SCREWS' WITHIN 4" (OPTIONAL WITH SHEAR SCREW
?g ?%*NE(?E & MAX. SHEAR SCREW SEE "CORNER DETALS” INSTALLATION) z
a INSTALLATION) ON SHEET 8 £
SEE "CORNER DETAILS" | 2
ON SHEET 8 ——\ 48C N ; ;
g , ?»/ \ ‘_-3 1/2)1 §
: \ ™~ 4
NO. 10 SMS KL: \ in ‘
WITHIN 4" OF \ ant \ E:; T g
CORNERS & : HiN \ : .
» N T N\
NO. 12 SMS HH H WAL 10k 48A INSTALLATION V(IS \ o
INTO BUCK / 1 SEE OTHER - \ o
SHEAR SCREW 4 NO. 12 SMS | ELEVATIONS FOR T\ \ g N
(2 PER TOP ! 5 E
HINGE) INSTALLATION N oo, ]| . || stesR screw | Y33 \ 2
SEE OTHER ELEVATION B HINGE) , ‘NSTALLAT'ON// I // \\ , S L
_ FOR CLIP INSTALLATION | 31/2' o 24 7/8" 77| | N £3%5
S @ d / | \ ;L_[ = u " MAX. D.L.O. | H N 21 g =%
- < o - ; I INaCTVE || |1 | ] HEEE
2 H Jy INACTIVE | AAcTVE L E Loz L | mlACTIVE [N 2| 18] 8a3
< g M T s T
3 T7 |l 247/8" I " \ g = . | ‘ é S l5| = 8.%6?
T MAX. D.L.C. I < I JEN 31A & 32 | /1l T a(_ il m% 5
~ AN \ | s - ] N~i - S22 ¥n.”
— 4 T 31A & 32 ‘\ v ‘ . P"\) + | \\h T o . | (\lz"
> v '"% \Iﬁ E" 2 S | AN SCREWwa N =J| / Te 183E 8
o N\ g T / ¢ Z 2
: AN il =J| i / N NO. 8 X 1 1/4" SNS j & |tj’ py E Rk &
@ S tj’ / % OR 1 5/8" DRYWALL * F@ ul v R E
|| 7 o SCREWS WITHIN 4" ] \ I g N, E Z |2
NO. 10 SMS | | N ) ey T OF CORNERS & MAX. \ FANDLE )% % & -
WITHIN 4" OF } \ HANDLE J/ ~ Y% E * g 10 1/2" 0.C. H \ 1 I - INSTALLATION (29 . $
CORNERS & TN all > N HHH—¢ < CLIP 4" FROM 51 & 3.4
MAX. 12" 0.C. - Hihdl—  <| " ~ \ /< // | CORNERS & MAX. o o, o3k
. N il Y ~ / . = — . \ lﬂj Il”‘ / = (9" 0 = | Y, B
\ / » © ] e oL 5.8
o ol N [ / - ] NI N S | - | ARTER
il 38 S T | E i > N IR : o| 23"
gt > o T » 5 @ / {0 ol i ~ = | 5558
i : < . : N - _ 2| &g &3
o~ — ™ \ ™ - = <z Jg©
an \u u/ - bt H[NGE 1 1 1 |::| |::| I ¥ | 32 wn :(E)O zﬁ'l\
HINGE , : Lyl . |- | I, ' | F3 299 252
| | [T | [ | NO. 10 SMS WHEN INTO R ISP
- P NO. 10 SMS WHEN INTO 1/4" TAPCONS WITHIN 4" OF @ > | WOOD SILL (2 PER STRIKE 2 EA
1/4" TAPCONS WITHIN 4" OF WOOD SILL (2 PER STRIKE  CORNERS & WAX. 12" 0.C. EXTERIOR ELEVATION PLATE) e o= ¢°
CORNERS & MAX. 12° O EXTERIOR ELEVATION PLATE) WHEN INTO CONCRETE DOUBLE TRAPEZOID FRENCH DOOR 1/4" TAPCONS WHEN INTO ¥
DOUBLE EXTENDED QUARTER ROUND 1/4” TAPCONS WHEN INTO NO. 10 SNS WITHIN 4" OF SCALE: 3/4"=1"-0" CONCRETE SILL (2 PER ;L
NO. 10 SMS WITHIN 4" OF SCALE: 3/4"=1-0 CONCRETE SILL (2 PER CORNERS & MAX. 12° OC. STRIKE. PLATE) 3 i
CORNERS & MAX. 12" O.C. STRIKE PLATE) WHEN INTO WOOD FRAMING g <
WHEN INTO WOOD FRAMING PRODBUCT REVISED C &
PROBUCT RENSWED ;g:gmmymf with the Floridg & e
oiying with the Florida ing Cod ul :
NOTE: FOR COMBINATION OF Duiding Code Aocaptanes i 204062510 © :
DR G o O FOR JAMB FASTENER EMBED & EDGE e
' ALLOWABLE DESIGN LOADS DISTANCE REQUIREMENTS SEE SHEET 3 b Frduct Cominet ™ DRATNEG TFEV,
& 1003F UNDER - ool 12288
SEPARATE APPROVAL SEE "LOAD TABLES™ ON SHEET 12 SHEET NO.
2 o 13

_ |



—

37 5/8” MAX. OSM

SEE "CORNER DETALS" £1

ON SHEET. 8
\/ -7 |
c! \n a! ) !o .
N

°©
P
Py

¥ SHEAR SCREW

INSTALLATION
SEE OTHER
ELEVATION FOR
NO. 10 SMS \ |44 ig
WTHIN 4 OF CLIP INSTALLATION
CORNERS &
; MAX. 127 0C. s ‘
@]
5 FIXED
o] — P
>
g ° 0
: E1
[se]
S N | \ .
R -t 24 7/8" —

MAX. D.L.C.

L 7 I

12" MAX.

4 uax. ! J | |
&,

1/4" TAPCONS WITHIN 4" OF NO. 10 SMS WITHIN 4" OF

CORNERS & MAX. 12" 0.C. CORNERS & MAX. 12" 0.C.

WHEN INTO CONCRETE WHEN INTO WOOD FRAMING
EXTERIOR ELEVATION

FIXED PANEL DOOR/SIDELITE

SCALE: 3/4"=1-0"

je——37 5/8" MAX. OSM ———n
/ 27

" VINYL NAIL FIN
4" MAX/ (OPTIONAL WITH
SHEAR SCREW
INSTALLATION)

12"
@ l MAX. I
'] |‘+‘ I'E :

['F

I'F

/// CLIP

INSTALLATION
SEE OTHER
ELEVATION FOR
SHEAR SCREW

2

™
L

| @9

INSTALLATION
CLIP- 4" FROM
CORNERS & MAX.
12" 0.C.

INSTALLATION
o' [] []
3 FIXED
(] Z E
>
< ° ° =
= wn
: @ 2
[sa] .
S , I\ %
L fog =, .
~ 3 24 7/8" IR i
. MAX. D.L.O. p
FIN SCREWS
NO. 8 X 1 1/4" SMS
a L1 OR 1 5/8" DRYWALL
& I SCREWS WITHIN 4"
OF CORNERS & MAX.
// 10 1/2" 0.C.
12" MAaX. |° | 12" MAX
l i 1"
4" MAX.J ! P 4 MAX.J

EXTERIOR ELEVATION

SCALE: 3/4"=1"-0"

FIXED PANEL DOOR/SIDELITE

1/4" TAPCONS WITHIN 4" OF
CORNERS & MAX. 12" O.C.
WHEN INTO CONCRETE

NO. 10 SMS WITHIN 4" OF
CORNERS & MAX. 12" 0.C.
WHEN INTO WOOD FRAMING

ALLOWABLE DESIGN LOADS
SEE "LOAD TABLES" ON SHEET 12

NOTE: FOR COMBINATION OF
UNITS. SEE MULLION
DRAWING NO. 1003E
& 1003F UNDER
SEPARATE APPROVAL

JAMB FASTENER MIN.

EMBEDMENT
NO. 10 SMS INTO BUCK = 1 3/8"
NO. 12 SMS INTO BUCK = 1 1/2"
1/4" TAPCON INTO CONCR./BLOCK = 1 1/4"

JAMB FASTENER MIN.

EDGE DISTANCE

WOOD JAMB & BUCK = 1"
CONCR./BLOCK = 2"

PRODUCT REVISED
as complying with the Florida
Buiding Code

Aceegtance No
Eupivation Date

gy
ﬁzﬁézﬂ%i Bade Produet Contro

Bivision

PROGUCT RENEWED

DRAWN BY: ]CHECKED BY:
KP.S. WW.S.
FLOT: DATE:
1=16 05/13/03

E

<

[a}

>

m

z

Q

=

a

a

Q

n

i

(=}

p-4

o

]

o

[+

Q

4

o))
a
<
N
7o)

e
2 35«
030
n %) <1\
2| €25
Q1 & z .
(@] Z L9 o©
- | £ 5%
Vann Y
E 4 mZ
= ov
| NS
Z 15 o
O a
4
T |I& 3
Q Iz
=z Iz
(Y] =
o
LI_ m
4} &
alz 7
Q| ® &co
€1 Weeadt
= < R
Z4 e
o | g% 5
5 W g4
& Z 35
i~ ~FOn
Ld e}
= [ Egm
21 wp .7
Z | <z 55
WZ |53 280
153 g(no Z.3
o< |5 .8 827
Z 3; @ O
= 7] @ ¥
= 8 o 2
= o= T
ui
a
z =3
Q &<
g x4
S ,
[ Nz
= E
5] zo
[
[
<L
z

12288

DRAWING NO. [RI

2

SHEET NO.

3 o 13

"~



” DRAWN BY: CHECKED 8Y:
1/4" MAX. FRAME MAX. OSM 1/4" MAX. _krs | _wws
SHIM (TYP.) KEEPER PLATE HELD TO ASTRAGAL SHIM (TYP.) 2 | osyizjos
VN, 244 PT WITH 2 NO. 8 X 1 3/4” SMS .
WOOD BUCK INSIDE 63 [ INSIDE 28 ~un. o pr||®
BY OTHERS 57>\ WOOD BUCK =
/.-\BY OTHERS ||&
THInY '
i d/' .,
! - B o}
\ || 11 - £
N o z
K ULLRAVALTAY i N o g
| IIN D
. —_— e —— i i . B 7
2N = [ As - O 5
@ — q ] — — 46) (Ig
,- \ / . .
v.. 9 | N \/ v 2
f ) \(\\Q | TRLTLIAY £ N
l? IR ' \\ \.\‘ ) ; / . v
| i LIy . :
E . B <
T [ 0
SILICONE  SEALANT AN L EZ
& SCREEN SPLINE SULLE. © 5L
SR = o2 S
BRI e Q
: ‘ %) ;5 TEN
(92 R
= SECTION e L
" » & BACKER ROD Z I
orTionaL  \1BALT6B SEE "GLASS DETAL"  [QUTSIDE m OUTSIDE 16ANT68B BY OTHERS 5] £ 8%s
ON SHEET 9 SCALE: HALF FULL SZE \ 4/ 2| 2325
FOR DIRECT MOUNT TO BLOCK OR CONCRETE L le Z
1/4" MAX. 1/4" MAX. e I5 2
SHIM (TYP.) ™) FRAME 0.5.M. SHIM (TYP.) i CRS
2
1 @ u(Zj z
MIN. 2X4 PT & © n
WOOD BUCK .
INSIDE SN/ BY OTHERS 8l & 3eo)
N\ ~./\/ O] W B L¥R
. A5 | S<gal
\ \ . / ) 60- g_l“g
5 <L A
“““/ @ | 3| G¢ g4t
STTIATETE TN T : = e :ég
A B & 2| B
N\ Lo == —— a \ -3 155 255
D\ eI HSNINTE B 13t
- y /i - o . Sﬂ-ﬁj
: RALMALILALAY \!\ Abd AWy ! VANAD:S 0014110104010 . % 3= 8 3
' | .
\ ! T ~ 3 \ , M CEIR
" ‘d AN TO V 0‘\\‘\\ E? \ \ 8’ o \ ui
et ) J : D 5 > | N\ o
£ D\ o e/ sk N
- " _\., . o @\\\ E;
SEE "GLASS DETALL" L : 96 = IANNIE 5
% - o Erl At e il aed e Tl S i [ .__ \\ w
5% Lsucone seaar  ON SHEET 9 16A 1168 NE vk R 1= B SN
& SCREEN SPLINE OUTSIDE 57 MhibeFlonde I\ \\ |24
56 OPTIONAL 03002800 |© =\ |8
el Al sy [odd
SECTION /e SECTION /2 04] 264 <
SCALE: HALF FULL SIZE W SCALE: HALF FULL SIZE \U N o T3
: 12288
[SHEAR_SCREW_INSTALLATION] [ CLP INSTALLATION | Divishy SHEET NG,
4 of 13

~

— |



DRAWN BY:  |CHECKED BY.

SEALANT

| SHIM (TYP.)

- zZ10/—-189 (615) €067-SLL-198 X¥d 206v-SL/-195 FNOHI) . SELEF ON Id >
g 2 BAYZSN VOVNYO 'OIVING ‘NOGNOT 70225 a1ils VR ASVATIN N Sedg = -
£8 . 'V'd ‘ONILINSNOD % S Sl ™
"ONI "SMOANIM TN ONIY3I3NIONT ¥343VHOS M "M \\\\\\ o0 &
al o YIUNLOVANNYI SINVLINSNOD \A@m; Y «\g " wﬂk%
gl _ e 8 £ N s —[sw0
5 3lva A8 NOILJINOS3a NOISIAZY SH00J LOVANI-NON HONIU4 gOoOM av10 WANINTTY NOILYDIJILy30 °
JLL_ONIMYNG
Q
y & Y
3 O §F
gy Z
8
Q
S
2
&8
(7]
. Y
- L > o £ oy
3 g =€ 5
o & = R - =z 5
S e NS =
S = = &
£ 13 z
= T - wn
x5 L T
< > WSO "XYA JAVY4
>
N
. x?
£S
=0

~

o >

> =

W( M

o wm 2
"+

Wm NG

=

a o

<~ >

> m

N

. S

=35

=m

QIAATRIALY

G Ly
OPTIONAL {1, |

- SEALANT
& BACKER ROD
BY OTHERS

99

OUTSIDE

SNE N

SEE "GLASS DETAIL”

ON SHEET S

|
w
a
L
m - n @
g}
A D LJ
o= O Ox
55 &
> Ll
=3 L =Z
- - w O
= o
=z
+ =
~NT
- w
by
NSO "XV 3INVYS
N @
o
%)
z | 77

C N A
NI T T

. . A..A v
Al . "
CHEE SR
9,
=
"

MW/

]

#... ;

c ey,
D)

|

SCALE: HALF FULL SIZE \9

CLIP INSTALLATION

I

SHEET 9 FOR DIRECT MOUNT TO

BLOCK OR CONCRETE.

SCALE: HALF FULL SIZE \E_)/ SEE "OPTIONAL JAMB DETAIL” ON

[SHEAR SCREW INSTALLATION]




DRAWN BY: CHECKED BY:

ACUNRRNV.ANY

AL

Y

v

L]
»
1
i
|
»

|41
LA
|}
(4

15 Z10.-189 (81G) £06Y~5LL—19S XV4 Z06~SLL~19S :INOHJ d @mww«:%% .\.m.n__,_umm(; =
£ 2 BdYZSN YOYNYO ‘OIMYINO ‘NOANOT Y025 TNE VAL VLN aag 4 =2 .
mw HmDOQ.Z<Z<IoDm ¢ v'd ‘ONILTNSNOD % \\\\%Y\ B e
‘ONI "SMOONIM TAM ONIMIANIONZ H343VHOS "M "M Py o | o)
dl YIUNLOVINNYA SINVLINSNOD g T CEX &
& mw SHOOAQ 10VAWI—NON HON3IM4 doom avid WANINNTY , E&E m.l "o
T 3lva A8 NOLLIMOS3A NOISIAZY  |'ON TILL ONIMYNGD NOILYOIJILY3D
~ - X
o wAA. a AMn /W\
[an] /W\ = W = .
g S vz
=g mﬂmm — &
Lo T
— T - wn _IY —
s =
[s @] _li
< > WSO XYW JNVYA
>
Ny
=5 @ N Lt
i P90 |4
[se) w
i m @8
i) (@) \
@O ) <
V\\ _ “\ll —— .)// N W
d 71 N
LT " TN — 11 /
1 \\\ v f\_?_ — /M \\.u_.V\ ) ~~ rJ/‘— v // /m‘mg L ]
L q K I 7 , L’ o~ r M\.\.// /_ x//. 3 w | =Z
0 ERAN G I R N NS
, e N s =% |E
, \ & =F - S35
~— e~ (il BN I8
_ SYERIZ
IR ol B=
. WY o
= H S5
O © = | e
& @ QO L —
o Lt o))
S = 0 S
o @2 & = m
=z =2 nnU pu
ZOoE ®) 7]
3206 L
<M =
h <o nS
— = > a
s < o e
DmW = =
o T~ Mﬂmw = o
W % M = — % .O =
" LJ ~x Loy e
= v ~ >
ao [ Wl.. 2
<> WSO XYW JNVYS o = L
&° 295
X M»n o o
: [N =9
=< Lt 9=
=5 TS
=m ] Zo &)
V9] = b Mnu
z S¢
Mo
% ,& vy @

| ——

o\

39

168

& BACKER ROD
BY OTHERS

SEALANT

QUTSIDE

SEE "GLASS DETAIL”

ON SHEET 9

SECTION

SCALE: HALF FULL SIZE

|SHEAR SCREW INSTALLATION|




—

DRA\:J(N g‘f CHECKED BY:
T MIN. 2X4 P.T. WOOD MIN. 2X4 P.T. WOOD T
@ N N BUCK BY OTHERS (TYP.) — BUCK BY OTHERS (TYP.)
@— “ | , 5
OPTIONAL |- Z 174" MAX. 1/4" MAX.
\ 2 | SHIM (TYP.) o Y @ [ SHIM (TYP.) .
& BACK : & BACKER ROD : = b
& BACKER ROD ' o K ' ?J 2
T e e R PR T Y e
B b T = T 7 7 %
16168 A TaY 19/ 16A)16B— "~ e/ L )] :
SN 1 39 2\
N ONE \ g
DOW 1199 z (49 DOW 1199 Q
SILICONE SEALANT "4 SILICONE SEALANT
& SCREEN SPUNE. NP 65 & SCREEN SPLINE 20 A &/\;\ \ 65 o
23 O >
A )
i @ @ ) EZ
| | | 2 33w
: 9| 4 °%R
OUTSIDE =i (<7 INSIDE OUTSIDE =w): INSIDE S £ goﬂ%
© © 13 ov
( \ : ( 1 = gl ¢
o \ Y Z 15 Z
e [ Sf ¢
i : Lr : X‘L;<]—4‘ | @ b- . . I s i s(]\—d’K I @ E £
SEE "GLASS DETAL" — || ¥ \§\ | ,ﬁ. SEE 'OLASS DETAL" — |1 ¥ \{ | 2
ON SHEET 9 k 777 ON' SHEET 9 W iramad S| 2 3.
S = 26k
&—J777 e—7/7/ & 3| 3¢ 34t
Lol — 1Ll = g5
® X?;{X/ 57 & [ 5 , 57 E U,%ZZ; 2
Naa & — ~. o
DOW 1199 @ \ R /@ DOW 1199 | ;5\ /@ PRODUCT RENEWED Sl EPAS F
SILICONE  SEALANT ' \\\EE\ . SILICONE SEALANT as . viththeFlorida I3 2. ° 5
= N =~ » o; o
5 N N
) l// ] ) I . 06 i
3 y TN /—@ 1/4" MAX. 3 . ~ /—@ 1/47 MAX. : osﬂ ¢
N § IH [ SHIM (TYP.) ngs N [ SHIM (TYP.) ¢, N o
G S ' f YRR f g NNJEY
R B X RN
4 e Ol === éu'
SECTION m SEE "OPTIONAL JAMB DETALL” ON SECTION m DRAWINC NO. TREV.
sALE: HALF FUL SZE N\ 7/ ety PR oikeer it 0 SCALE: HALF FULL szE— \ 7/ l}?EgTSEO
|SHEAR SCREW INSTALLATION] BLOCK O CONCRETE. |SHEAR SCREW INSTALLATION T3




~

ST1A

518

NOTE: THESE SCREWS MAY BE REPLACED

BV
4
4
3
4
b

5 NO. 8 X 3" SMS—_

SCREWS PER PANEL

KEEPER BAR (2 INTO
STILE & 3 INTO RAIL)

@_/

5 NO. 8 X 3" SMS
SCREWS PER PANEL

KEEPER BAR (2 INTO
- STILE & 3 INTO RAIL)

l wﬂ |
ALRAR AR .-

A

1
N

e

\ ¢

7

~]
—

7 !

%

-

V444 \H’I\(I I

/\/ -
A PANEL KEEPER BAR.
(SEE DETAIL THIS SHEET)
N

‘\\_
e

ALELANE LR

A

: il e

AT TIFETT

a

SECTION @ STRIKE PLATES /o

SCALE: HALF FULL SIZE

N

WITH 1/4" TAPCONS WHEN FRAME IS DIRECT
MOUNTED TO BLOCK OR CONCRETE OPENING
(SEE "OPTIONAL JAMB DETAIL” ON SHEET 9)

3/8"x1/2” WOOD
TENON ‘MORTISED
INTO STILE & RALL
& GLUED WITH PVA
WOOD GLUE

(FULL DEPTH OF RAL)

(:%\\

COUNTER SINK—|

LAG BOLT 2" 55
& CAP WITH g \'
1" DIA. WOOD '
oo & o || 1§ /l
GLUE M 2

STILE

STILE TO TOP_RAIL CORNER DETA|

L

SCALE: N.T.S.

ey
\ 2y dVavr
siee || A Lo | L
TR A2 104
1 , g
COUNTER SINK ////
2 LAG BOLTS 2" \\ P
& CAP WITH
1" DIA. WOOD -

DOWEL & PVA 4\ 3/8’x1/2" WOOD

TENON MORTISED
INTO STILE & BOTTOM
RAIL & GLUED WITH
PVA WOOD GLUE

GLUE

-1

45

- 2 "
1

) 7/8”_WOOD

STILE TO BOTTOM RAIL CORNER DETAIL

GLUE
JAMB TO JAMB

K

DR,

AWN BY:
K.P.S,

CHECKED 8Y:
W.W.S,

DATE:

05/13/03

g

A

7

JAMB 10 _JAMB DETAIL

i

RABBET JAMB TO
JAMB CORNERS

NO.] REVISION DESCRIPTION

1/4" DEEP

AL

CLAD TO CLAD DFTAL

SCALE: N.T.S.

SCALE: N.T.S.

JAMB CORNER DETAILS

B

I x'/ /'/ '

r

/\/

A

EXf-THRESHOLD & BUMPER
[~

1 NO. 6 X 3/4"

SMS THROUGH THRESHOLD

CLADDING & INTO
CLAD SCREW BOSS

%. 8 X 2" SMS SCREWS THROUGH

JAMB & INTO THRESHOLD
(EXTEND JAMB TO THRESHOLD BASE)

DRAWING TITLE

JAMB

o)
o
d—
N
)
BT
g 250
£ 02—
. 0> 0
1 g_zn
AEESE
ol 8§ =z .
a = <Qw©
= | £ 8%
N
3(_ 44 mzZ <
= oW\
2 x ™y p——
| N
zls &
QO |z 0
=z g =
T |E 3
O Iz
g1z
& o
o s
o) p4 * 7
Q| & Sow
Q| W, 43R
=] Y 8L
Zo' ko
o] % 32"
5 wo Z.mE
(@] Z 35
re rFrog
= w1 . zo
LS 289
2| up i3
Z | L= 55w
Rk
25RO 20
el w38
< 5.3 o<
D; @ Q@
(%] «© zZ
£y 8
o= a

PANEL KEEPER BAR DETAIL

1/4" X 1" A36 STEEL NICKEL PLATED OR PAINTED BAR

SCALE: HALF FULL SIZE

SCALE: N.T.S.

| . THRESH
3.25" 425" 225

2.00" (().2/18" DIA. H(;LES 2.50" 0.312" = = ~—0.312"

0.75" — 7/16 C-SINK 075" 0.562" t = 0.078"
Ir- K@ *l 0.687" i ¥ l é
i—~@~{%j@— ® o1+ A —
0,625 0.156" DIA.—"0.812" — 0.945"
s 0.625” DIA. HOLE FOR FLUSH BOLT STRIKE sz |

" G)STRIKE PLATE DETAL

NICKEL PLATED STEEL

SCALE: HALF FULL SIZE

OLD TO JAMB CORNER DETAIL . \\. X
P\ . o
2 \\ o4s)
P s he Flosida g \‘\\ \ 2l
\ I
=
DRAWING NO. {REV.

12288

SHEET NO.

8 or 13

~ ]



—

- l—-—-1/8" (3mm) TEMPERED GLASS

GLASS 1 &
40
58
17(18 6N/
1/2" MN._] r« “
BITE s
L
AR A0409
T M\
I‘\\: \ \‘\
N[ FRLeR (Saue wooD
RS AS STILES)

TYPICAL GLASS & GLAZING DETAIL

SCALE: FULL SIZE

1/47 MAX,
SHIM (TYP.)

LI p

SECTION

v

" VTIS—MIN, 2X4 P.T.

e

BUCK BY OTHERS

SCALE: HALF FULL SIZE
SIMILAR FOR CLIP MOUNT

N

L1
d
L

-
o

4

\

,
\“n/
S
:
F\ 7’

§

I
; l‘\\\

!
4

OPTIONAL JAMB_DETAIL FOR DIRECT
MOUNT TO CONCRETE OR_BLOCK

(TYP. ALL UNITS)
SCALE: 1/2 FULL SIZE

R
1" =2 1/16" — ~—15/16"
3/8”——— s
}
it
* -0 —— - ©-
! HOLES FOR NO.
8 SCREWS e
(1 ROW OF 6)
1
p:
|
|
Q- —— - ©-
| 2n 12-
| |
2" MIN.—— 1/4" TAPCON 4" FROM g L ~
\————w\ CORNERS AND MAX. 12" 0.C. |
R I (SEE SHEET 3 FOR EMBEDMENT 1
IR REQUIREMENTS) TO REPLACE . | >
£
T e B ALL NO. 10 & 12 JAMB & 1/8" THICK
LA < STRIKE SCREWS
IR - D @
z CONT. P.T. SPACER |
= =~ AS REQUIRED IéIOIS_(I—égE\SV%R(gO.
== \E d (MIN 3 1/2" WDE) TOTAL AS SHOWN) | 2’
\\ ’-\ N |
[ V1 ﬁZ‘—&/ /v//i - __@}
o
/ ’

(39 SIRIKE_PLATE DETAIL

NICKEL PLATED OR PAINTED A446 GRADE A STEEL
SCALE: HALF FULL SIZE

PRODUCT RENEWED
with the Florida

»04-0211.0G
AR 2005

DRAWN BY: |CHECKED BY:
K.P.5. WWS.
PLOT: DATE:
1=2 05/13/03
wi
7
a
>
@
=z
=]
=
a
[+
Q
wn
w
(a]
=z
o
)
o
[+
o]
-4
fop)
o
<
N
o)
=
O 5«
DA N
£ 855
el g_%n
14 =z Z0 |
o <
ol 8 z -
a > <O ©
Z Ty
[ —
ol ¥ 8o
& 4 Dz
il
zZ
Z 15 O
O x &)
pd 8 z
T £ S
Q Iz
z 1=
] =
g n
O S
atlt £ 3z 7
o e 2P
L
S| Weeoah
ET -
5 WO Jdg
O Z 25
m|: F—EN
= lli-'—‘ >
35 2 &Sy
Wy 2.1
Zz <z Jo®
Lt =5 Lo =Z5K
r—'l:) p"—’oo .m |
~ zWN T =5
ozt-' < . "’é'“
= 5T fay
= 2 LI
= & £
] o= T
K\ L|J
AN a
O -
LRI o
5 = \\\\\\ Ltgg
’ZQ"\J \\\( . %*
P .
E*K\\\ %)
2NN\
Ol \ ‘_Zun‘
ponse ] e
==
g
DRAWING NO. |REV.
SHEET NO.
9 or 13

~ |



—

4.562 4560 { - 1.187
VENEER [
L e J ] 1.187
- -~ \8+©\ J‘ , 0.703 i\
\ \ \o U?Zb I 0.437 } ) 0.703
¥?ﬁp RN W — —1.062—
0.645 PONDEROSA PINE LAMINATED IN 5 BLOCKS T LINEAL @ RADIAL
LINEAL WOOD FRAME JAMB RADIAL_WOOD _FRAME JAMB GLAZING STOP GLAZING STOP
(PONDEROSA PINE) (LAMINATED VENEER) (PONDEROSA PINE) (LAMINATED VENEER)
4.250
2.187 2.500
2.187
* /S T o5foo I
0.963 VAR 7 :
o?oo S S *
RADIAL DOOR STOP
I LINEAL DOOR STOP " (LAMINATED VENEER) 2.312
%%%%%%55%%55%%% (PONDEROSA PINE)
i 1 ‘ i
\ U \ \,\
1.750 AN \ \ Iﬁ
SR ‘ 4.062 ]
1.750 2.468 ”\‘ﬁq~ : S : [
— i
ﬂ:f‘b\\\\\\\ - 2.125 |
0.937
- ) 1828 / 1.629 N
/ p AN
WOOD DOOR ‘ /
EXTENDER Jéi‘ /// 5.750 .
(PONDEROSA PINE) 4.750 1.750 @ ASTRAGAL
LAMINATED VENEER
(3)DOOR_THRESHOLD VN < :
CAP BUMPER | \\ \\ N
(PONDEROSA PINE) \\\ AR

2.000 i_[- 0.250

/‘
.

ASTRAGAL CAP

(PONDEROSA PINE)

1

(1) RADIAL DOOR RAIL
(LAMINATED VENEER)

(12 LINEAL_TOP_DOOR RAIL %

(PONDEROSA PINE)

DRAWN BY: CHECKED BY:

K.P.S. W.W.S.
PLOT: DATE:
1=1 05/13/03
=
<
a
>
o
z
o
=
a
4
3]
171
n]
a
z
=}
2]
o
o
z

KML WINDOWS, INC.
23 BUCHANAN COURT

LONDON, ONTAR!O, CANADA N5Z4P9

MANUFACTURER

(519) 681-7012

ALUMINUM CLAD WOOD FRENCH NON—IMPACT DOORS

& CONSULTING, P.A.
8895 N. MILITARY TRAIL; SUITE C—204

W. W. SCHAEFER ENGINEERING

DRAWING TITLE
CONSULTANTS

PALM BEACH GARDENS, FL 33410
PHONE: 561--775—4202 FAX: 561-775-4903

CERTIFICATION

‘HAEFER, P.E.
P.E. NO. 44135

DRAWING NO.

12288

R

2

SHEET NO.

10 or 13

~



—

1.750 { 4750 70 ﬁ !_—0'425_ "“’:::S': z:gi)j:
r /_—) w
,\ A \ T T~ q D o078 0.810 8
\ \ .- i \\ /‘/, | / \ /"' \ -1L) :
\ | ; N\ ! ~ ’ 4
o R SN S 1.750 ' . [ , F
/ Y, \ o @ JAMB_CLADDING OPTIONAL
7 / / A J (6063-T5 ALUMINUM) @ JAMB CLADDING §
Y. / yay, [ / \ /. (6063—T5 ALUMINUM) ;
\ £t /\ : : " — - 0.425 —] - 2
CN N — 0.360 %
\ \\\ \ WOOD SILE ;: P d
AT \ \ {_‘0_860_, (PONDEROSA PINE) | 2.834 -
/ /"' / // A | [~ 0.850 0.062 T 3
S 0.916 [ 1.026 2
/ / ;
X / / O D< ™~
NN g Z 52~
b \ 0.916 l 5.0 .| 5825
L \ ' x| ¢ =37
\ Vo RADIAL GLASS STOP R (19 DOOR SILL S 5392
AN _ \ \ (6063—-T5 ALUMINUM) (6063-T5 ALUMINUM) Z%% @
7T (19)LINEAL GLASS STOP o )
/ / / / 6.000 (6063~T5 ALUMINUM) 4.558 g E’ S';%L\o/
/ |z 2
/ _ / 1-413“—‘1 43 ~  |-0.350 5672 é £ E
VWL T 1
\ \\ \ 0.078 0.812 ‘ , | 0037 5
, L ‘ 2
~ \/ ~ B 332 \\ J/ o.o5o_—f 0.050 = J —|[=—0.060 al 2 & 3%
/ // / —|~0.050 § i, ozh
/ THRESHOLD Za £ 3
/ (20 THRESHOLD (Z) MULLION CLP @ (29 RALL_CLADDING 2| 8%
\ Ry PLATTED MULLION EAIENDER 3| B¢ gt
\ \ (6063-T5 ALUMINUM) (8053-75 ALUMNON) (3003—H14 ALUMINUM) —1~—0.050 Co- R | = Eg ;%%
' z| =2 538
0718 _ DOOCRLASDTILE | i a§8:
T c:_j_Lﬂ———* (6063-T5 ALUMINUM) R £ 23';8 2%y
, 6" — 9" o—__ 1 PRODUCT RENEWED DOR(/)AIL BCOLT;DOM I EE 2
" 5 & vith the Florlda AL ULAD
0.1257 DIA HOLES NN\ @ —————BSHQRCSS DL (3003—-H14 ALUMINUM) u
170 SRR RS (3003-H14 ALUMINUM) w,“%%ng 5§§ 8
- 175" & & ¢ 16 GAGE ¢ ¢ f{‘f/n s 52\%\ s
U /\ / (] & & s o & i 1.187 i ;—"‘0‘:2 0 Eii\\\ '\3:‘;?
P @ NAIUNG FIN Z—O 25" DIA. HOLE (/ / / ‘ U%\\ g
D(()OR BOTTOM )RAIL VINYL) H\gSTALLATION CLIP oo ? = 03
PONDEROSA PINE GALVANIZED STEEL I
= 5 i (22)NI._THRESHOLD TRM 12288 |
(PONDEROSA PINE) SHEET NO.
11 or 13

—



—

FIXED PANEL
(CONFIGURAT!ON = O)

PANEL FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)

WIDTH HEIGHT POS NEG
15 7/8" 82" 136.8 147.3
25 5/8" 82" 90.7 97.7
31 5/8" 82" 76.8 82.7
33 5/8" 82" 72.7 78.3
37 5/8" 82" 65.0 70.0
15 7/8" 85 5/16" 136.2 1467
25 5/8" 85 5/16" 90.1 97.0
31 5/8" 85 5/16" 76.1 82.0
33 5/8" 85 5/16" 72.6 78.2
37 5/8” 85 5/16" 65.0 70.0
15 7/8" 95" 134.8 145.2
25 5/8" 95" 88.5 95.3
31 5/8" 95" 74.4 80.1
33 5/8" 95" 70.9 76.3
37 5/8" 95" 65.0 70.0

THIS TABLE APPLIES FOR ANY NUMBER OF FIXED PANELS SIDE BY
SIDE & CONSIDERS EACH PANEL BEING EQUAL IN SIZE.

OPERABLE SINGLE DOOR OPERABLE DOUBLE DOORS
(CONFIGURATION = "X") (CONFIGURATION = "XX")
DOOR FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF) “DOOR FRAME SIZE (OSM) ALLOWABLE PRESSURE (PSF)
WiOTH HEIGHT POS NEG WIDTH HEIGHT POS NEG
25 5/8 82" 90.7 97.7 50 3/16° 82" 913 98.3
31 5/8 82" 76.8 827 62 3/16" 82" 77.0 829
33 5/8" 82" 72.7 78.3 86 3/16° 82" 72.9 785
37 5/8° 82" 65.0 70.0 - 74 3/16" 82" 65.0 70.0
25 5/8" 85 5/16° 90.1 97.0 : 50 3/16" 85 5/16" 90.7 976
31 5/8" 85 5/16" 76.1 82.0 62 3/16° 85 5/16" 76.3 82.2
3358 85 5/16° 726 78.2 66 3/16° 85 5/16° 72.7 783
37 5/8" 85 5/16° 65.0 70.0 74 3/16° 85 5/16° 65.0 700
25 5/8° 95" 885 953 - 50 3/16" 95" 89.1 959
31 5/8" 95 744 80.1 62 3/16" 95" 74.6 80.4
33 5/8° 95" 70.9 763 66 3/16° 95" 710 76.5
37 5/8" 95 65.0 700 74 3/16° 95" 65.0 70.0
FOR THE "XXXX" CONFIGURATION, THIS TABLE CONSIDERS
EACH DOOR FRAME TO BE EQUAL IN SIZE.

NOTE: ALL POSITIVE PRESSURES FOR ALL DOORS SHALL
BE LIMITED TO 65 PSF WHEN WATER INFILTRATION

RESISTANCE IS REQUIRED BY CODE.
(POSITIVE. PRESSURES LISTED IN TABLES ARE FOR WIND PRESSURE ONLY)

NOTES:

1. THE LOADS IN THESE TABLES ARE AS DETERMINED BY TESTING & COMPARATIVE
ANALYSIS WITH THE CONTROLLING FACTOR BEING THE WORSE CASE OF: GLASS
SIZE & AREA, UNIT AREA, HINGE REACTIONS, STRIKE PLATE REACTIONS,

AND PERIMETER FASTENER REACTIONS.

2. THE LOADS IN THESE TABLES MAY NOT BE INTERPOLATED.

ORAWN BY: CHECKED BY:

K.P.S. WW.S.
PLOT: DATE:
1=1 05/13/03 .

DATE

BY

REVISION DESCRIPTION

NOTE: TABULATED VALUES ARE FOR THE ALLOWABLE DESIGN PRESSURE RATINGS OF THE UNIT SIZES & CONFIGURATIONS SHOWN.

PRODUCT RENEWED

ORAWING TTLE

ALUMINUM CLAD WOOD FRENCH NON-—IMPACT DOORS

KML - WINDOWS, INC.
23 BUCHANAN COURT
LONDON, ONTARIO, CANADA N5Z4P9
(519) 681-7012

MANUFACTURER

& CONSULTING, P.A.
8895 N, MILITARY TRAIL; SUITE C—204

W. W. SCHAEFER ENGINEERING.

PALM BEACH GARDENS, FL 33410
PHONE: 561-~775-4902 FAX: 561-775-4903

CONSULTANTS

CERTIFICATION

ORAWING NO. |R

-~
-
E

JUN {»
o
WARREN, W. Ni&ﬁﬁﬁ%%. P.E.

2

12288

SHEET NO.

12 or 13

~



—

DRAWN BY: CHECKED BY:
MATERIAL LIST MATERIAL LIST
FASTENER MINIMUM =1 05/13/03
PART | REF. DESCRIPTION NOTES PART | REF. DESCRIPTION NOTES
NO. NO. NO. NO. EMBEDMENTS: "
PARTS & EXTRUSIONS 40 - #6 X 1 5/8" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 6" 0.C. 1) ALL TAPCONS £
1 |PF1010 | LNEAL JAMB WOOD MEMBER SEE NOTE 1 41 - | #6 X 3/4" SMS SCREW WITHIN 3" FROM CORNERS & MAX. 12" 0O.C. MUST HAVE A MIN
2 | PF1231 | CURVED JAMB WOOD MEMBER LAMINATED VENEER 42 ~ #8 X 2" SMS SCREW 3 @ EA. RECTANGULAR JAMB CORNER CONCRETE/BLOCK' &
3 |PF1358 | WOOD SUBSILL FOR THRESHOLD | SEE NOTE 1 43 | - | #8 X 1 1/2" SMS SCREW S O EA. RADIUS JAMB CORNER EMBED = 1 1/4
= z
4 | PF1351 | LINEAL WOOD DOOR STOP SEE NOTE 1 44 - #6 X 3/4" SMS SCREW 2 @ EA. JAMB CLAD CORNER INTO CLAD SPLINES e
o.
5 | PF1351 | RADIAL WOOD DOOR STOP LAMINATED VENEER 45 - 3/8" X 5" LAG BOLT 1 @ TOP STILE & RAIL, 2 BOTTOM STILE & RAIL 2) ALL JAMB TO 2
0
6 | PF1011 { WOOD LINEAL GLAZING STOP SEE NOTE 1 46 - #12 X 3/4” SMS SCREW 4 @ EA. HINGE INTO AMB (ExcLuDiNG Top Hingg) —BUCK SCREWS MUST 14
7 | PF1011 | WOOD RADIAL GLAZING STOP LAMINATED VENEER 47 - #12 X 1 1/4" S.S. SCREW 4 @ EA. HINGE INTO STILE HAVE A MIN. BUQ,K &
8 |PF1169 | WOOD BOTTOM RAIL EXTENDER SEE NOTE 1 48A - |#12x2 1/2" S.S. OR BRASS SMS 2 @ TOP HINGE ONLY THRU JAMB INTO BUCK EMBED = 1 3/8 g
9 | PF1362 | DOOR THRESHOLD CAP/BUMPER | SEE NOTE 1 48C |~ [1/4"=20 X 3/4 MACHINE SCREW 2 @ TOP HINGE ONLY (WITH T—NUT) AT NO. 19 SCREWS .
10 | PF1507 | ASTRAGAL CAP SEE NOTE 1 49 — | #10 SMS SCREWS (1 3/8" MIN. BUCK EMBED) WITHIN 4" FROM CORNERS & MAX. 12" 0.C. & 1 1/2" AT NO. |2
11 | PF1130 | RADIAL DOOR TOP RAIL LAMINATED VENEER 50 - | #8 X 1 3/4" SMS SCREW 2" FROM_ASTRAGAL ENDS & MAX. 12" O.C. 12 SCREWS.
12 | PF1131 | LNEAL DOOR TOP RAIL SEE NOTE 1 S1A - #10 SMS SCREWS (MIN. 1 3/8" BUCK EMBED) 2 THRU EA. STRIKE PLATE, JAMB & INTO BUCK LENGTHEN SCREWS o
13 | PF1489 | WOOD ASTRAGAL LAMINATED VENEER 51B | - (Tnﬁu T1AP1C/% ((:vg)?IECr; n\éLoB ECDC))NCR.) 2 THRU EA. STRIKE PLATE, JAMB & INTO CONCR. | A5 REQ'D TO OBTAIN N
. . N
14 |PF1132 | WOOD BOTTOM RAIL SEE NOTE 1 ' —Z
52A - #6 X 3/4” SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB REQD MIN EMBEDS. G X
15 |PF1130 | wOoOD STILE SEE NOTE 1 > 28«
528 - #8 X 1 1/4" SMS SCREW 6 THRU TOP STRIKE PLATE & INTO HEAD JAMB £ 02—
164/B| PF1001/1002 | JAMB CLADS 6063—-T5 ALUMINUM i . 029
— " Yo m
17 ToF1017 RADAL GLASS STOP 0835 ALUMINUM 53A ZN{I‘; :A;jc/cirj ((:vcv)i%r; Ir\éLOBEC[.)C))NCR.) 2 THRU EA. SILL STRIKE PLATE & INTO CONCRETE CASTENER MWL el ¢ <ch |
T . [ 191 (@] -
18 | PF1458 | ALUMINUM LINEAL GLASS STOP 6063-T5 ALUMINUM } - 81 a 259
: . 538 - #10 SMS SCREW (MIN. 1 3/8" FRAMING EMBED) 2 THRU EA. SILL STRIKE PLATE & INTO FRAMING EDGE DISTANCE: Z I3
19 | PF1086 | 4 9/16" OUTSWING DOOR SILL 6063-T5 ALUMINUM - - - =] £ 5%~
54A - |1/4" TAPCON (WHEN INTO CONCR.) WITHIN 4" OF CORNERS & MAX. 12" 0.C. wooD = 1" Q 5%
20 | PF1083 | THRESHOLD EXTENDER 6063-T5 ALUMINUM (MIN. 1 1/4" CONCR. EMBED) —/ Sl 2Bz
CONCR./BLOCK = 2 b ~
22 | PF1295 | INTERIOR THRESHOLD TRIM SEE NOTE 1 548 | - #10 S/STL SCREWS (MIN. 1 3/8" FRAMING EMBED) WITHIN 4" OF CORNERS & MAX. 12" O.C. il QZ-
23 |PF1172 | BOTTOM RAIL EXTENDER CLADDING |3003-H14 ALUMINUM - . z | &
55 #10 X 1.5" SMS SCREW (SIDE JAMB TO MULL PLATE) | 4" FROM CORNERS & MAX. 12" 0.C. ol & S
24 |PF1135 | TOP RAIL CLAD 3003-H14 ALUMINUM , . - = z
56 - #10 X 2 1/2" SMS SCREW 4" FROM CORNERS & MAX 12" 0.C. 3 &5
25 |PF1134 | STILE CLAD 6063-T5 ALUMINUM , p ol [ 3
57 - #8 X 1 3/4” SMS 3" FROM CORNERS & MAX 12" 0.C. S E
26 |PF1136 | BOTTOM RAIL CLAD 3003-H14 ALUMINUM . Z |z
57A - #8 X 1" SMS SGREW 3" FROM CORNERS & MAX. 8" 0.C. Lt
27 |[PF1214 | VINYL NAIL FIN OPTIONAL WITH SHEAR SCREW INSTALLATION - E ”
PF1326 578 | - 1 #8 X 2 1/2" SMS SCREW 3" FROM CORNERS & MAX 12" 0.C. 1 g . 3
= S
28 | SK1031 |GALVANIZED 16 GA. STEEL GALVANIZED STEEL, INC. (Fy = 33 ksi MIN.) SEALANTS 1 & I3
INSTALLATION CLIP WITHIN 4" OF CORNERS & 12" MAX. O.C. 58 - DOW 995 SILICONE FOR 1/2" GLAZING BITE = §<. EE;[
—D_ =
30 |SK1156 |FIVE KNUCKLE FULL MORTISE HINGE| STANLEY NO. FBB191; STAINLESS STEEL 59 - DOW 1199 STRUCTURAL SILICONE ADHESIVE CONT. CLADDING TO JAMB & DOOR STOP TO JAMB Ql 9. ac
(4 PER DOOR PANEL) OTHER I &GS 43
. a S 44
3NA | - - WITH PAR NG HARDWARE (BRA e £
G-U US TRIM SERIES 2000 HANDLE|USE T #32 LOCKING HARDWARE (BRASS) 60 - NORTON NORGLAZE .0625" X .437" GLAZING TAPE POLYOLEFIN FOAM W/ ACRYLIC ADHESIVE = | g ;gé‘
31B | SK1415 HAN [ T (BRASS o] ¢
W& MFC. SERIES 1200 LOCKSET |INCLUDES HANOLE & SINGLE DEAD BOLT (BRASS) 61 — | TREMCO 440 BUTYL TAPE GASKET TRIM OFF AT EDGES (TYP. AT JAMB CLAD CORNERS z | ¥95;5)
32 - |G-U 3—POINT DOOR LOCKSET US TRIPACT DOOR BOLT SYS. (USE WITH #31A) W3S |, 56 338
64 - 1/8" THICK TEMPERED GLASS =5 Q0 ;o)
33 |SK1193 |KML INTERIOR FLUSH BOLT 1 TOP & BOTTOM EACH DOOR PANEL INTERIOR N AT
K> - =
34 |SK1597 [0.945"%2.25"X0.078" STL STRIKE |1 AT EACH FLUSH BOLT STRIKE (HEAD & SILL) 65 | PF1371 | FRAME WEATHERSEAL SCHLEGEL T 3T 85y
PLATE (Fy = 33 ksi MIN.) NICKEL PLATED STEEL 66 |PF1026 | 0.415" X 0.489" RAINSKIRT SCHLEGEL EXTRUDED FLEXIBLE COPOLYMER E 6= 2
35 |SK1598 |4"X12" X1/8" STEEL STRIKE PLATE |LOCATED AT CENTER/TOP OF HEAD JAMB '
. A ST NICKEL PLATED OR PAINTED STEEL -
(MIN. ASTM A446 GRADE A STEEL) |NICKEL ALL WOOD USED WITH TESTED UNITS IS MINIMUM GRADE 2 u
FASTENERS PONDEROSA PINE. ALTERNATE WOOD SPECIES ACCEPTABLE 3
. z| e rite)
% - fBS}BJ S’{;‘WAEEASSCS;:EFéfW OR W'Nnﬁ FROM ENDS & MAX. 10 1/2" 0.C. WITH THIS PRODUCT ARE THE FOLLOWING MINIMUM GRADE 2 g b= gg
£
WOODS: 1. MAHQGANY 5. DOUGLAS FIR g ¢
. " . g il es n=
37 #8 X 1 1/4" SMS SCREW 2 PER CLIP INTO BUCK (1 EA. SIDE OF BUCK) 2. OAK 5 MAPLE PRODUCT RENEWED PRODUCT REVISED =h oy
38 | - | #8 x 5/8" PAN HEAD SMS SCREW| 3 PER CLIP INTO JAMB 3. CHERRY 7 TEAK as cossglyig with the Florkls b & sith the Florids Sl z~
39 - 3/8" LONG STAPLE WITHIN 3" FROM CORNERS & MAX. 8" 0.C. 4. CYPRUS : > z
& =z
DRAWING NO. JREV.
12288
SHEET NO.
13 of 13

]



